Motion Pre-Assessment
Initials + Day of Birth: ______________________________
A child is swinging on a rope.   She starts high off the ground and swings, reaching close to the ground in the middle of her swing.  When she is closest to the ground in the middle of her swing, which of the following describes her energy?

	 
	A.
	She has no energy.

	 
	B.
	She has maximum kinetic energy.

	 
	C.
	She has maximum gravitational potential energy.


Explain the reason for your choice:

The graph below illustrates the position over time of a dog that runs to catch a stick and then returns with it.
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The dog caught the stick after 2 s. What was the dog’s average speed as he returned with the stick?

	   
	A.
	His average return speed was .7 m/s.

	 
	B.
	His average return speed was .825 m/s.

	 
	C.
	His average return speed was 1.25 m/s.

	 
	D.
	His average return speed was 2.0 m/s.

	
	
	


Explain the reason for your choice:

Motion Post-Assessment

Initials + Day of Birth: ______________________________
A child is swinging on a rope.   She starts high off the ground and swings, reaching close to the ground in the middle of her swing.  When she is closest to the ground in the middle of her swing, which of the following describes her energy?

	 
	A.
	She has no energy.

	 
	B.
	She has maximum kinetic energy.

	 
	C.
	She has maximum gravitational potential energy.


Explain the reason for your choice:

The graph below illustrates the position over time of a dog that runs to catch a stick and then returns with it.
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The dog caught the stick after 2 s. What was the dog’s average speed as he returned with the stick?

	   
	A.
	His average return speed was .7 m/s.

	 
	B.
	His average return speed was .825 m/s.

	 
	C.
	His average return speed was 1.25 m/s.

	 
	D.
	His average return speed was 2.0 m/s.

	
	
	


Explain the reason for your choice:
